Soustraction (J)

Calculez la différence.

3784 6789 8425 5072
=421 =04 =29 =253
4362 7781 8951 6860
=672 679 K92 611
5399 7402 3762 5280
=36 =167 =48 =173
3571 2857 9372 2028
=251 =124 =88 =665
7985 1376 9256 8358
=590 =135 HA66 =234
2200 4831 7199 5478
—291 46 =30 =740
7519 9039 3019 3606
=316 =309 =335 =358
5975 8873 5633 2794
=18 =98 =233 D522
4426 4663 6310 6042
=58 =158 HI6 =939
8422 6652 7906 8053
=350 =390 =391 (88

4509 3499 8000 2445 6177 3208
=467 =171 =352 H08 =129 188
5372 5045 9344 6043 9540 6153
=440 =122 331 =68 HO8 965
3453 4805 6625 2935 2378 4725
—o01 =253 Hr2 =08 =64 =112
2519 9359 8175 7177 3339 7032
=929 152 664 =26 =72 =816
1025 7395 3427 9759 1222 7429
447 640 B2 =91 A9 HA12
3573 9183 8635 3763 8415 1091
=329 =127 =239 959 230 =04
4944 3479 5443 5384 8411 4981
=322 =164 =164 H38 =63 =199
4699 5838 8792 3032 1408 3922
=30 =07 HB7l D94 =356 677
9638 4039 3551 3286 8232 4345
=598  H 625 =125 601 =898
5636 8643 8600 9208 3217 8534
=75 =240 =391 =43 [79 R4l
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